
02.22 USILITEL' PEREKLJUCHENIJA PEREDACH 
 

 
 
 



№ в 
рисунке 

№ по 
каталогу Наименование Примечание 

004 2731103240 Кольцо уплотнительное 50 x 40 SI CSN 02 9280.9 
008 2052381244 Болт стопорный  
019 3111730120 Кольцо стопорное 12 CSN 02 2930 
023 3111108840 Шайба пружинная 8 CSN 02 1741.05 MKS 720 
025 3111105360 Шайба 8,4 CSN 02 1702.1 MKS 720 
026 3111108840 Шайба пружинная 8 CSN 02 1741.05 MKS 720 
027 3091144700 Болт M8 x 30 ISO 4014 - 8.8 MKS 720 
030 3111103240 Гайка M10 CSN 02 1412.2 MKS 720 
037 2050250814 Палец арретировочный  
039 3119013210 Кольцо уплотнительное 20 x 24 
040 2051360984 Пробка  
041 3249100240 Шарик III 10 
042 3119013060 Кольцо уплотнительное 12 x 16 CSN 02 9310.2 
043 3091147410 Болт M12 x 35 ISO 4017 - 8.8 MKS 720 
045 2050511424 Пружина  
046 3249100280 Шарик D11,113 7/16" 
047 3111122730 Штифт 8 x 16 A ISO 2338 - St 
048 2017930074 Звено блокировочное  
049 2053027394 Трубка обезвоздушивания  
050 3111108850 Шайба пружинная 10 CSN 02 1741.0 MKS 720 
051 3091172190 Болт M10 x 65 ISO 4014 - 8.8 MKS 720 
052 3091144840 Болт M10 x 45 ISO 4014 - 8.8 MKS 720 
054 2053651234 Штуцер  
055 3119012140 Кольцо уплотнительное 14 x 20 CSN 02 9310.8 
056 3194110360 Горловина Js 6 CSN 13 7850 
057 3111109740 Шайба 13 CSN 02 1751.0 

 
 


	02.22 USILITEL' PEREKLJUCHENIJA PEREDACH

